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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Being an honest person, she was unwilling to -———- Peter in the swindle he had
planned.
1) confirm 2) abet 3) jeopardize 4) impede
2- The girl is surrounded by so many possessions that testity to her family's ————-- %
1) opulence 2) activism 3) propensity 4) elitism
3- The physician advised the ———-- man to lose weight if he wanted to not be afflicted
with different medical complications.
1) craven 2) sturdy 3) immense 4) obese
4- Enlightened slave owners were willing to --------—-- their slaves and thus put an end to
the evil.
I) initiate 2) emancipate 3) efface 4) reject
5- One of the most striking aspects of Indian cultures was the production of ceremonial
costumes and ornaments worn during religious ---------- ;
1) rituals 2) subtleties 3) fashions 4) prefaces
6- The Clarks® -=--==vee- spending habits have put them in debt.
1) extemporaneous 2) divisive 3) extravagant 4) passionate
7- The people who had lost their homes in the fire tried to --——-—--—- whatever was
salvageable from the ruins of that fire.
1) confront 2) extinguish 3) exclude 4) glean
8- The new study will test different doses for safety. And scientists should be able to tell if
the antibodies -—--—--- some of Alzheimer’s devastating mind-robbing symptoms.
1) emerge 2) predict 3) alleviate 4) precede
9- Coaches often tell their players that a little nervousness is good because it keeps them
on their —-—-— a
1) limbs 2) toes 3) fingers 4) feet
10- Without liquids or food, people typically -—--eeee- after 10 to 14 days.
1) diminish 2) recede 3) falter 4) perish

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

l.ike most people, students tend lo be overconfident about newly learned skills. This self-
assessment problem can occur because the common educational practice of “massed training”
promotes rapid acquisition of a skill—and self-confidence—but (11) ~=-=--=-=- retention of that
capability. In mass training, instructors teach students in one or a few intense sessions.
Students (12) ===-=----- such instruction quickly obtain the relevant knowledge. Yet skills taught
in this way tend to decay rapidiy, (13) ---------- people remain unaware of this fact.
(14) --------—- more evident than in driver education. Although millions of dollars
(13) =mmmeeme- on such courses, they do not, the data suggest. produce safer drivers.
11- 1) not necessary for the 2) necessarily none of the

3) not necessarily the 4) for no necessary
12- 1) undergo 2) undergone 3) by undergoing 4) undergoing
13- 1) although 2) however 3) so that 4) then
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14- 1) Nowhere might this problem be 2) This problem nowhere might be
3) Nowhere might be this problem 4) Nowhere this problem might be
15- 1) spent 2) are spent 3) being spent 4) that are spent

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

Silver(I) halides darken in light owing to photochemical decomposition. If the halogen
produced is kept in close proximity to the finely divided metal which is also formed, the
process may be reversed when the source light is cut off: hence the use of AgCl in
photochromic glasses.

The light sensitivity of silver halides is fundamental to all types of photography. In a
black-and-white photographic film. the emulsion coating consists of a layer of gelatine
containing AgBr (or to a lesser extent, AgCl or Agl) in suspension. Exposure of the film
produces some submicroscopic particles of Ag: on addition of an organic reducing agent, more
AgBr is reduced, the rate of reduction depending on the intensity of illumination during the
exposure period. Thus, the parts of the film which were the most strongly illuminated become
the darkest. It is this intensification of the latent image first formed that allows the use of short
exposure times and causes silver halides to occupy their unique position in photography.
Unchanged AgX is washed out using aqueous [8303}2_ according to the following reaction:

AgX +2[S:03]" — [Ag(S:0302] + X,
and the photographic negative is converted into a print by allowing light to pass through it on
to AgBr-containing photographic paper. This is again treated with thiosulfate. The increasing
use of digital cameras is likely to have the effect of considerably decreasing the use of silver
halides in photography.

16- According to the passage, which of the following reactions occur in photochromic
glasses?
1) 2Ag + Cl; — 2AgCl]
2) AgCls — Ag + Clz
3) 2AgBr — Ag + By
4) AgCl + 2[S:05]F — [Ag(S:0:0h] + CI
17-  Which of the following compounds is more abundant in black-and-white

photographic¢ films?
1) Agl 2) AgCl
3) AgBr 4) [Ag($:0:)2]

18- According to the passage, which of the following statements is NOT true?
1) Both photographic film and photographic paper contain AgBr,
2) Silver(1) halides decompose to their elements when exposed to light.
3) In a photographic film, AgBr can be reproduced from silver and bromine in a
reversible reaction.
4) Areas of the film that were more intensely illuminated. react more rapidly with the
organic reducing agent.
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19- What is the role of thiosulfate solution in photography with silver halides?
1) It reproduces AgBr on photographic films.
2) It reacts with atomic silver to remove the black color.
3) It is added to the film prior to photography. in order to reduce the exposure time.
4) It is used to dissolve the remaining AgBr from the film and the photographic paper.

20- The word “latent” in line 11 is closest in meaning to ..........coccvviviiiinnnne.
1) colorful 2) hidden
3) large 4) late

PASSAGE 2:

Activated charcoal is a finely divided form of amorphous carbon and is manufactured from
organic materials (e.g. peat. wood) by heating in the presence of reagents that promote both
oxidation and dehydration. Activated charcoal possesses a pore structure with a large internal
surface area: microporous materials exhibit pores <2 nm wide, macroporous refers to activated
charcoals with a pore size =30 nm. and mesoporous materials fall in between these extremes.
The largest internal surface areas are found for microporous materials (>700 m’g™'). The
ability of the hydrophobic surface to adsorb small molecules is the key to the widespread
applications of activated charcoal.

Early large-scale applications of activated charcoal were in gas masks in World War L.
Various gas-filters including those in cooker extractors and mobile or bench-top laboratory
fume-hoods contain activated charcoal filters. About 20% of the activated charcoal that is
produced is consumed in the sugar industry, where it is used as a decolouring agent, Water
purification uses large amounts of activated charcoal. The porous structure means that
activated charcoal 1s an excellent heterogeneous catalyst, especially when impregnated with a
d-block metal such as palladium. On an industrial scale. it is used. for example. in the
manufacture of phosgene.

The porous skeleton of activated carbon can be used as a template on which to construct
other porous materials. for example, Si0,, TiO; and Al:Os:, The oxide is first dissolved in
supercritical C(), and then the activated carbon template is coated in the supercritical fluid. The
carbon template is removed by treatment with oxygen plasma or by calcination in air at 870 K.
leaving a nanoporous (‘nano’ refers to the scale of the pore size) metal oxide with a
macroporous structure that mimics that of the activated carbon template.

21- According to the passage, activated charcoal with a pore size of ~ 5 nm, is a
ieswesssevsasesnsnens MABLETIAL

1) microporous 2) hydrophilic
3) macroporous 4) mesoporous
22- According to the passage, activated charcoal .............ocoiivininnnn.

1) is used as an oxidizing agent,
2) is a erystalline form of carbon.
3) has the ability to adsorb small molecules.
4) is an excellent homogeneous catalyst.
23- Why is the activated charcoal impregnated with palladium?

| ) to turn it into a crystalline form of carbon 2) to make it hydrophobic
3) to increase its catalytic activity 4) to reduce its pore size

24- According to the passage, oxygen plasma is used in order to ........covvvviennianineannns
1) reduce the pore size 2) react with Ti. Si and Al

3) produce supercritical CO; 4) react with the carbon template
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25- The phrase “calcination_in air” in the last paragraph means .....ccoiiiiiiiiiiinnnnn
I) burning with oxygen 2) reacting with calcium oxide
3) reacting with calcium and oxygen 4) reacting with any metal oxide
PASSAGE 3:

Vanadium is a fairly abundant element (0.02% of Earth’s crust) found in several dozen
ores. Its principal ores are rather complex. such as vanadinite, 3Pbs(VO,):-PbCly. The
metallurgy of vanadium is not simple. but vanadium of high purity (99.99%) is obtainable. For
most of its applications. though. vanadium is prepared as an iron vanadium alloy.
ferrovanadium. containing from 35% to 95% V. About 80% of the vanadium produced is for
the manufacture of steel. Vanadium-containing steels are used in applications requiring
strength and toughness, such as in springs and high-speed machine tools. The most important
compound of vanadium is the pentoxide. V.0s, used mainly as a catalyst, as in the conversion
of 501 to SO; n the contact method for the manufacture of sulfuric acid. The activity of V105
as an oxidation catalyst may be linked to its reversible loss of oxygen occurring from 700 to
1100 °C. In its compounds. vanadium can exist in a variety of oxidation states. In each of these
oxidation states, vanadium forms an oxide or ion. The ions display distinctive colors in
agqueous solution. The acid base properties of vanadium oxides are in accord with the following
factors: If the central metal atom is in a low oxidation state. the oxide acts as a base: in higher
oxidation states for the central atom, acidic properties become important. Vanadium oxides
with V in the +2 and +3 oxidation states are basic, whereas those in the +4 and +5 oxidation
states are amphoteric. Most compounds with vanadium in its highest oxidation state (+5) are
good oxidizing agents. In its +2 oxidation state, vanadium (as V*') is a good reducing agent.

26- What is the most important compound of vanadium?

1) VaOs 2) V¥ ion
3) vanadinite 4) ferrovanadium
27- According to the passage, vanadium-containing steels ......... PR

1) are not suitable for use in high-speed machine tools.
2) contain 80% vanadium and 20% iron.
3) are made directly from vanadinite.
4) have high strength and toughness.
28- What happens to vanadium pentoxide when it is heated up to 900 °C?
1) it looses oxygen reversibly
2) 1t is converted to VO,
3) it reacts with SOj; to produce sulfuric acid
4y it 1s decomposed to vanadium element and molecular oxygen
29- According to the passage, an aqueous solution of V303 is most likely ...
1) acidic
2) basic
3) a good oxidizing agent
4) a good reducing agent
30- The word *ore” in line 2 is closest in meaning to .........ccccvvieee
] ) salt 2) mineral
3) complex 4) alloy
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